Geometry, Supplemental — sem2: Matrices B
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Threatened Species The matrices below Show the num-
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ber of eudangered and threatened animal and plant species as of June 30,
1996. Use matrix addition to find the total number of endangered and
threatened spec1es (Source: 1997 Information Please Almanac)
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Geometry, Supplemental — sem2: Sequencee and Patterns

Patterns Find the next two terms of each sequence:
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Sequences and Patterns Homework . Date

Patterns DI : :
Find the next two terms of each sequence.
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Sequence notation

Write the first four term? of each sequence.
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16. Find the value of the nth term and the 100™ term in each sequence.
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17. If the paitern of dot-figures is continued, how many dots will be in the 100™ figure?
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Geometry, Supplemental — sem2: RecursivemSequences

~ Can you see a pattern in this $equence?

2,5 8 11, 14, 17 a4 3

What about this one?
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: ln patterns like these, the next number is determined by one or more of the numbers before it.

o This is called a recursive pattern because something happens with the first value, and that

© = same something 're-occurs' {recurs) over and over again.

e f' For our rule for generating a sequence, we need a way to write: 'the term before this one' or ‘the

o term two before this one:

. @, is the way we Wriie this term — the term we are working on'

. | a,.H is the way we write 'the term before the term we are working on'
C'M is the way.we write 'the term 2 before the term we are working on'

. Examples of finding a recursive pattern:
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f- "'.Geometry, Supplemental — sem2: Recursive Sequ’ences

A recursive rule gives the beglnnlng term or terms of a Sequence and, then a recursive equation that tells
how a, is related to one or more precedmg terms ( tems

Example: Write the first ﬁve tetms of the sequence:
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Wnte the first five terms of the sequence.
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